AT TEEAYRE (IR

T X H W OB OB Ko

o
2
B

5
MSHEREERER = EHEE TR T A (FERRE))
O DECEY (1 (2) (3) (4) ® 1) ~ Ca3
E6E 5 B 45 6 BE 1 4 B E3fE
: 7 (& A R @)
(M 2) :
1) (2) (3) (4) (5)

0 ﬂ = (e} - — |
(2] O F= o 5 o = I
=
0 o> 1
(2) 5> — - S o © 7= — i
[y} O =

==
(4) _9% — — S o PZY NS ) © ﬁ
(5) Srbp — = — ° i
V¥ o o (&) A 1]

[ 3 ] : (Fﬂﬁ 1 ) ) .

o) @ (3) (@ (5) 6)
I #TT
(B 2) 0 @ 3 (@)




AW TEEAERBR M BR)

e O 2A, | ' 2% E 2
T X B O O E (o2
(%D%%z%‘%té%ﬁ!‘zﬁ%ﬁ - ERHE SO /T b (BERRE))
[ 4 ] (Fﬂﬁ 1 ) @ @ . @ v i @ @ %EIZ ))1_;7\
D Cis HoE T e—& }\‘f-f., (4] ~ (63
«(F 2)
(i A ® ﬁl )
Allegretto )
7 4 | [—— )
3 1 re I ] ] e |
Q) [& | I 1 H = Iﬁ 1 1l 1T : 1 T |
mP  —— "”f —— e ¢ |
(5] (1) (2) (3) (4) (5)
B F AGD2HAF | APD4HT | ADDIWTF | 8H5DIHT | 25D 3T
= C=ER INETF REHA F= =5
(6] BENOOE (2) 3) (4)
BL<w-< YL, . gtz -
BC i #<L KEIZFEL BEBICHL
(5) (6) (7 (8)
HE BN, e " s i SPEIR
B E - T i%%ﬁx‘k, LR G EDRIERSIHEST £ % =T
(9) (10)




